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PREVIEW QUESTION BANK(Dual)

Module Name : Geography
Exam Date : 19-Jun-2023 Batch : 15:00-18:00

Sr. | Client Question

No D Question Body and Alternatives Marks Negativ

Marks
Objective Question

L1951 The following table shows the number of votes polled along with the percentage (%) of valid votes and ratio of valid votes of male and

females among them during an election in a college for the last five years from 2018-2022. Some values are missing in the table (indicate
by ' ') that you are expected to calculate if required. Based on the data in the table. answer the questions that follows.

Year-wise Details of Voters Polled in an Election

Vear Number of votes | Percentage of valid votes| Ratio of \'alin‘i votes of
polled polled (%o) male and females

2018 - - 35

2019 1000 - 5:4

2020 2000 38% -

2021 - 60% 75

2022 3000 40% -

In the year 2020, if the number of valid votes of females was 300 then what was the ratio of valid votes of males and females in the same
year?

. 15:19

1301

23215

4. 13:5

e <1 775 i H 9 2018 ¥ 2022 T [UST U9 a8 1 fsi Bias 5 TG & SR ST T8 Tl &1 I & F-91Y 3 el &1
TG YT ST O =St 3R Afearsi & 3y Tt o7 U S=iar T 7 | difereT § $ A <% e MU € 3% — gRISMa fT
w?gﬁgﬂaﬁ waﬁMWWWaﬁaﬁmﬁW%l drferepT H 14T T Sfihs! & SHIYR TR 3P =i 4T
TN T |

19 # STot ¢ Hal 71 9491 faawor

B

o S HAl @1 ST T Ay A T | Tl AR Afgens & 9y
paresi| TfaEe (o) Tl &1 SU
2018 — — 5:3
2019 1000 — 54
2020] 2000 38% =
D021 o 60% 75
2022] 5000 40% T

afe ay 2020 T Afgersii & Y Al &1 W@ 300 o 1 39 a9 YN SR Afgensii & ay Hdl &1 ST a1 ur

.15:19

.13:11

3.23:15

4.13:5

file:///C:/Users/Administrator/Downloads/26_Live_Geo_B2_E/26_Live_Geo_B2_E_1-150.html 17111

[ S




6/20/23, 6:23 PM 26_Live_Geo_B2_E_1-150.html
{%1
{\2
A3
A4

4

4

Objective Question

2 192 The following table shows the number of votes polled along with the percentage (%) of valid votes and ratio of valid votes of male and

females among them during an election in a college for the last five years from 2018-2022. Some values are missing in the table (indicate
by ' ') that you are expected to calculate if required. Based on the data in the table. answer the questions that follows.

Year-wise Details of Voters Polled in an Election

Vear Number of votes |Percentage of valid votes| Ratio of \'alit‘i votes of
polled polled (%0) male and females

2018 - - 55

2019 1000 - 54

2020 2000 38% -

2021 - 60% 75 i

2022 5000 40% - )

If the number of votes increased by 600% from 2019 to 2023 and 76% of the votes were valid in 2023, then the number of valid votes
polled in 2023 was
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Objective Question
3 11953
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The following table shows the number of votes polled along with the percentage (%) of valid votes and ratio of valid votes of male and
females among them during an election in a college for the last five years from 2018-2022. Some values are missing in the table (indicate
by ' ') that you are expected to calculate if required. Based on the data in the table. answer the questions that follows.

Year-wise Details of Voters Polled in an Election

Vear Number of votes | Percentage of valid votes| Ratio of va].it‘i votes of
polled polled (%o) male and females

2018 - - 53

2019 1000 - 5:4

2020 2000 38% -

2021 - 60% 73

2022 3000 40% -

o =

V)

.270

300

.210

240

If the average number of valid votes polled in 2019 and 2022 was 1270 then the number of valid votes polled by females in 2019 was
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Objective Question

4 1954 | The following table shows the number of votes polled along with the percentage (%) of valid votes and ratio of valid votes of male and

females among them during an election in a college for the last five years from 2018-2022. Some values are missing in the table (indicate
by ' ') that you are expected to calculate if required. Based on the data in the table. answer the questions that follows.

Year-wise Details of Voters Polled in an Election

Year Number of votes |Percentage of valid votes| Ratio of valit‘i votes of
polled polled (%o) male and females

2018 - - 55

2019 1000 - 5:4

2020 2000 38% -

2021 - 60% T

2022 3000 40% -

In 2021, if the difference between the number of valid votes polled by males and females was 300, then the number of votes polled in
2021 was

3600
3000

3.3120

4.3440
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Objective Question

3195 The following table shows the number of votes polled along with the percentage (%) of valid votes and ratio of valid votes of male and

females among them during an election in a college for the last five years from 2018-2022. Some values are missing in the table (indicate
by ' ') that you are expected to calculate if required. Based on the data in the table. answer the questions that follows.

Year-wise Details of Voters Polled in an Election

Vear Number of votes |Percentage of valid votes| Ratio of valit‘i votes of
polled polled (%0) male and females

2018 - - 53

2019 1000 - 54

2020 2000 38% -

2021 - 60% 75

2022 3000 40% -
In 2018, if the ratio of number of votes to number of valid votes was 5:4. then the number of valid votes by females in 2018is %

less than the number of votes polled in the same year.
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Objective Question
6 1956 | Which of the following are the secondary laws of learning?

A. Law of multiple response
B. Law of Associative shifting
C. Law of effect

D. Law of Analogy

E. Law of exercise

Choose the most appropriate answer from the options given below:

1.B. C and E only
2. A Band D only
3.A.Band E only
4. C.D and E only

YT & fgcige Fom Feled A8 SR H g

A. 95 UTR &1 -y
B. YgOR| RIAFRU &I (a9

C. UHTd &1 HaH

D. 3 =Udl &1 oy
E. 3119 a9

Hi ST T fa el T 9 el SR BT 98 BiTuig;

1.$dd B, C.E
2. %4dA. B. D
3. %90 A.B.E
4.9ddC, D, E
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4

Objective Question

71957 | A collection of the student's work in an area. showing growth, self-reflection, and achievement is called as.

. Positive practice

. Personal development
Anecdotal record

. Portfolios

el
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Objective Question

8 1958 | Given below are two statements:

Statement I:Contiguity theory gives no place to effect in learning.

Statement IT: Watson's theory gave emphasis on the importance of frequency or exercise in learning.
In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement IT are correct

2. Both Statement I and Statement II are incorrect

3. Statement I 1s correct but Statement II 1s incorrect
4, Statement I is incorrect but Statement II is correct
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Objective Question

9 1959 My, Kim wants to create a live polling and feedback tool for his students in this context which of the following would be most suitable?

. Mentimeter

. Screen-casto-matic
. Padlet

. Polleverywhere

. Book-creator

Mmoo

Choose the most appropriate answer from the options given below:

.B. C and E only
.A. and D only
.A.Band D only
. C and E only
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Objective Question
10 /1960
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What are the different steps followed by the self-regulated learning?

A. Setting goals

B. Analyzing the task

C. Regulating learning

D. Devising plans

E. Enacting tactics and strategies

Choose the correct answer from the options given below:
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Objective Question

1171961 | Given below are two statements:

Statement I: In Cohort studies. samples are drawn from a generally defined population over time.

Statement IT: In Trend studies. samples are drawn from sepeific well defined population.

In the light of the above statements. choose the most appropriate answer from the options given below.

. Both Statement I and Statement II are correct

. Both Statement I and Statement II are incorrect

. Statement I is correct but Statement II is incorrect
. Statement I is incorrect but Statement II is correct

e L b =
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Objective Question

12 11962 | 1 APA style of referencing for a journal article. which of the following would come in the end?

1. last name of the author

2. title of the research article
3. page numbers

4, DOI number

ferdll Si+iet @ o o forg U Ot © davur <iefl B, Fafdiied § 9 o a1 &id 7 s

1. 9@ &7 Ao A

2. 3THYT TG &1 LN

3. 98§01
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A3 3
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Objective Question
13 1963
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According to UGC regulations 2018 on promotion of academic integrity . the Institutional Academic Integrity Panel will consist of

. two members

. three members
3. four members
4. five members

pTafid 81 & JauH dad 7 ot 9@ sififam, 2018 & AR, TRH® sprefis g1 I 3 g1

[

1. &l g
2. T e
3. dR Had™
4. Of9 9eq

Al
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Aty

4
Objective Question

141964 | Fora negatively skewed distribution. the median would be equal to which of the following measures?

A Mean

B. Mode

C. Second quartile
D. Fifth quartile

E.50% percentile

Choose the most appropriate answer from the options given below:

1. A.B and C only
2.B.Cand D only
3.C.D and E only
4 A.B.C.Dand E

BUNHD =4 I fawy faavur g, wrfee! Fafead & 9 fb- Al & wuged gril

A T
B. §gq%

c. fgdtg aqde
D. U9H GRO®
E. 50 9] T9P

Hie fqu T fam eyl § 9 U8l TR &1 90 Bl

1.PAd A, B, C
2. HGAB. C.D
3. HAAC.D.E

4 A.B.C.D.E
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Objective Question

1511965 Eor which of the following p-values of a test statistic a null hypothesis is likely to be accepted

.0.320f2%
.32%
2%

.0.42

Oowe

Choose the correct answer from the options given below:

. A and B only
.B and C only
.B and D only
Aand C only

fordt e wifens! & Fefafaa 3 8 67 p 91 & e, Y aRe e & Wier §F &1 SuTaHT sidl o7

2% PT10.32
.32%
2%

.0.42

i fau U fadedi T O Tl 3R &1 =98 Sifoiu:
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Onwe

1.Pdd A, B
2. $4dAB. C
3. %4ddB. D
4. HAAA, C

Al

A2

A3
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Objective Question

16 1966 Sharing of meaning between two positions of thought within a person is called

. Selfish communication

. Intra-personal communication
. Inter-personal communication
. Spiritual communication

o =

e L
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Objective Question

17 11967 s . v . _—
In decision-making process. group communication helps in maintaining

1. Status of top management
2. Policy deviation

3. Ethnic prejudices

4. Equilibrium related socio-emotional concerns

futa &= @t wferon & afe® d9R 9 fod omm - 1 Aeg fHadl 82

1. S vEeA 3t 8Rma
2. ifera fagem

3. O gate

4. T S IHINS-UTEATE S IRIER

ALy
1
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2
A3 3
3
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Objective Question
18 1968
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Which of the following are emphasized in high-context cultures?

A. Use of Colloquialism

B. Fractured sentences

C. Politeness in communication
D. Non-verbal communication
E. Indirect phrasings

Choose the correct answer from the options given below:

.A.BC only
.B. C.D only
.C.D.EonlyB
.A.B.E only

P S el el 3 e W aor foar o &2

A, TTETa BT el BT W
B. Gftsd arg

C. AR ¥ faTgan

D. IR-YM5d JaR

E. Ve ared faum

Hia feu U fadedi T 9 HEl 3TR &1 90 SIfoi:

1
2
3
4

1. $ad A, B, C
2.$ad B, C.D
3.%adC, D, E
4. PATA.B.E

Al
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A3
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4
Objective Question

1911969 | Given below are two statements:

Statement I:Perceptual time is related to the processing of non-verbal cues or signals by us.

Statement IT: Signalic or perceptual communication is related to the induction of others' communication into our brains. and this kind of
communication is also known as semiotics.

In the light of the above statements. choose the correct answer from the options given below.

. Both Statement I and Statement II are true
. Both Statement I and Statement II are false
. Statement I 1s true but Statement II is false
. Statement I is false but Statement II is true

o =

L
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Objective Question

201970 | Given below are two statements:

Statement I:The Hindu view of communieation considers language as a tool to understand an illusory world.

Statement IT: According to the Hindu view of communication, hearing and understanding of language are for realisation of some state ot
affairs.

In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4, Statement I 1s false but Statement II is true

e < Py RU MU E:

HYT 1: TR & &g BB T U1 & SRl 301 &1 YHeH &1 e T ST 3 |

DY II: TR & [Eg eRDI0 & SUR. U BT G901 3R GO o AFal Sl o 34l & [ smazas 31
SIS PY & 3Heile H, -1 13U 7Y faedt & 3 981 3R &1 994 DI

PUTI AR I GH TT g

YT IR GH SR §

DY 1T 8, AfhT PUT I 3T &
DY HTA R, AP pUT I gd ©
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Objective Question

180
210
272
316

PRI siae & e 08 I

0. 6.24. 60. 120, 7, 336. .....

. 180
.210

4

4

Objective Question

22 1972 | 1f MALE' is coded as 31 and FEMALE' is coded as 42, then how will 'ADULT" be coded in the same scheme?

w
SIgIT

R A

1

1

2
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272
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53
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Find the missing term in the following series 0.6,24.60,120.2,336..........
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A3

Aty

4

Objective Question
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A rectangular sports field has dimensions (150 m = 120 m). Its length is increased by 0.8% and width is reduced by 0.5%. What is the

percent change in the area of the field?

~0.3%
~0.4%
~1.3%
~1.6%

B R O

U HIAPR Wl HEH B URTAT 150 m 120 m &1 3HB! A5 § 0.80% B giG SR ATSTE H 0.50% P! DI gl o1 HaH &

gAha | WidRId 9gard o1 BT

.~0.3%
. ~0.4%
.~1.3%
.~1.6%

o =

W

Al
A2
A3

Aty

4

Objective Question

A and B can complete a work in 10 days: B and C in 12 days: C and A in 15 days. A alone can complete the work in

. 30 days
. 24 days
3. 36 days
4. 32 days

b =

AdRBPfi TR B 10 AT B3R C 12 AT, ¢ iR A 15 AT gl e Ipd §1 A 3@l P Pl foba 1 1 uf % bt &2

30fA
24
36 fdq
32fF

b2 =

= W

Al

1

A2,

2
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A3

3

Aty

4

Objective Question

25 1975 How many kilograms of sugar costing Rs.50 per kg should be mixed with 30kg of sugar costing Rs.45 per kg so that the mixture is worth

Rs.48 per kg?

.50 kg
.48 kg
3.45kg
4. 42 kg

745 Ui o, S arell 30 . o=t & 250 uf fooon, < faféa ot ome o (o &6t formd 245 wfa fosan, g1 omee

b =

50 T4
.48 ooy
45 faoy.
.42 foou.

[ S

o

Al

A2

A3

Aty

4

Objective Question

26 11976 Arrange the following group of terms in order of decreasing extension.

A. Mammal
B. Wildcat
C. Feline

D. Animal
E. Vertebrate

Choose the correct answer from the options given below:

LEB EAD
2.B.C.A.E.D
3:ByA B, B, C
4.D.E.A.C.B
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iR WTee-Twgl ®1 a%ad & Sfavig! HH § ogafyd I

A, T
B. g4ldd@E
c.fas@
D. U
E. BIBPH
= feu e [d@ el § O el SR &1 994 i
1.C,B,E,A,D
2.B,C,A,E,D
3.D,A,E.B.C
4.DE,A,C,B
Al
1
A2,
2
A3 5
3
Ay
4

Objective Question

27 1977 \Which fallacy is exemplified in the following statement. "There 1s no such things as knowledge which cannot be carried into practice . fo1

such knowledge is really no knowledge at all"?

. Begging the question
. Hasty Generalisation
3. Red Herring

4. Slippery slope

fFafifad oy & o1 w1 adbars axiar T 8 U9 I ol SIS g% el ol ¢ for FaeR & el Al o 9dhdl § adie e
aad H FH 81 6l grar?

o =

1. AT Y

2. Hfaaia aE=diERT
3,388k

4. Thaoged gar

Al

A2

A3

Aty
4

Objective Question
28 1978
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Which formal fallacy is committed in the following argument: "if your pet is a cat. then it as a tail. Your pet is not a cat. therefore your pe
does not have a tail"?

1. Existential fallacy

2. Denying the antecedent

3. Exclusive Premises

4. Affirming the Consequent

fafafad gfad & 19 91 SHTR® b aY &
i facett Sue! ureiq ux] 8. @ 59& 919 U ¢ | 379! Uraq uY] faeel =81 o | SHeT $ad g1eiq U] & U U8 T8l 672

RS dbay
. oqared Ry 3y

. Sad® TYRATE
. maarEd- gy g

R

Al
A2
A3

Ay

4

Objective Question

29 1979 | Given below are two statements:

Statement I:In deductive arguments. the claim 1s made that conclusions follow with certainly from their premises.

Statement IT: Any inductive argument, if is is good, brings to light in its conclusion what was already burried in its premises.
In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement IT are correct

2. Both Statement I and Statement II are incorrect

3. Statement I 1s correct but Statement I is incorrect
4, Statement I is incorrect but Statement II is correct

BIEEALZIC AR
B I: TS gfdd 3. 7 <ra1 faar o 8 o ey RiEa w9 8 snuraral 9§ Bied gid €1

g“ﬁn:ﬁﬁWﬁﬁﬂ.ﬁﬁﬁﬁ.ﬁﬁmwmﬁ%ﬁﬁmﬁﬁ%@ﬁwwﬁmﬁ@&ﬂ‘cﬂ
I

SURIGd FYF & fTa® 1, A1d 14U 7T f[dPwed J T I8! 3R &1 999 DI

Y1 AR I S el ]
YT 1 SR 11 & Tad o
P 1 981 ., Qe U= 1 Tad
.Y 1 TTed 8, e HU 11 9El B
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i’%l
{\2
A3
A4

4

4

Objective Question

30 1980 || Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: The argument that sound is eternal because it is produced. is fallacious.

Reason R: In the argument-"sound is eternal because it is produced." the middle term is contradicted by some other pramana and not by
inference .

In the light of the above statements. choose the correct answer from the options given below.

.Both A and R are true and R is the correct explanation of A
.Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4. A is false but R is true

A1 21 B 3T T §. U UGYT (Assertion A) & =10 H [T11Ed © ol GHRI 39d DRI (Reason R) b &Y T:

SHTHBY A: U6 ik o @11 =1yl & i 9 Scdliad sidl 6. ThaNgul 6l

HRVTR: "1 A1Yd § Fib a8 Iaifed il 8" - §9 gfed J Hed U 8 I 81 fobg faaft 3= vmmor @ anenfaa g g1
BRI DY @ el o, - 13U T fadbedl § 3 96 SUgad SR &l 99 Bitod:

[ S

A SRR ST TE € SRR, A B U AR @

. A SRR 3 TE1 € 3IR R, A ) It e el ©
A GRS A R WET TR ®

AT AR wE R

[

W

Al

A2

A3

Ay
4

Objective Question
31 1981
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What 1s the name of the computing term described below?

Software that gives the user the chance to try it out free of charge before actually buying it. The software is subject to the usual copyright
laws. As a rule. not all the features found in the full version are available at this stage.

1. Freeware
2. Shareware
3. Firmware
4, Malware

= afofd uikerer Ug o1 ol 1 &2 UHI Wveaer ford arkad B wiia- 3 Ugd Uaied &1 39T (Y[ JaIT &3 Pl SauR e
€| U8 UM W WAllYeR S & seadi= 8| Foma: dyul =9 ¥ faemm guit fafwdnt 55 ==u o Suesy 78l 8id! ¢ |

1. hldaR
2. IAGTR
3. BHAR
4. ATAdR

Al
A2
A3

Aty

4

Objective Question

32 1982 Given below are two statements:

Statement I: Google Meet is a pure Cloud-based Video conferencing solution.

Statement IT: Google Meet provides clouds storage as well as the ability to open and modify documents online.
In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4, Statement I 1s false but Statement II is true

9 &l Py RU MU &:

HY 1: 77T Hie U faxis warss snumid difsdl SsRin aeggH g1

HY I1: T HIT TGS SR 3R 1Y 8 Sxasl o1 SHarg" @i 3R I=1Yd o= &1 9w veH axdi gl
SIS PY & 3Heile H, -1 13U 7Y faedt & 3 981 3R &1 994 DI

PUTI AR I GH TT g

YT IR GH SR §

DY 1T 8, AfhT PUT I 3T &
DY HTA R, AP pUT I gd ©

ko =

oW
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A3

Ay
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Objective Question

33 1983 Given below are two statements:

Statement I:Solid State Drives (SSDs) are considerably faster then Hard Disk Drives (HDDs) when it comes to data access.

Statement IT: RAM is much faster to write to or read from in caparison to secondary memory such as hard disk. but its main drawback is
its volability.

In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false
. Statement I is true but Statement II is false
. Statement I is false but Statement II is true

9 g Py feu MU §:
FYT I: 37 M & Yy T TTSfStp glsa (HDD) i HUET TMTTe Te S84 (SSD) FIP! did Sl g1

Wu:g?%@ﬁﬁm@gﬁﬁwﬁ%@ﬁa{wmmﬁ R U U i oid & IR 59@ 58 &A1 g9@!
NIRRINGIES

SR YT & 3faid 1, A1 U 7 fdFwedi T T I8! SR &1 999 P Iford:

o

HYT I AR U A T ©
HYT1 AR A 3T B

PYT I I S, AT HYT 1 3A ©
PYT 1 3T R, AP puT I dd e

b =

= W

{\1
{\2
{\3
oF

4

Objective Question
34 1984
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You and your friend decided to go to Goa after you finish your finals. however your demanding parents set a couple of conditions to join
your friends (see MS-EXCEL spreadsheet below)

A 2 C D
Hesicsor orcstiditeg Minimal results  ||Actual Allowed
= needed results (YesNo)?
A [Hours spent on h 3
“homework weekly
3| Midterm score 70 68
4||Final exam score 75 77

Imagine your parents ask you to either meet the final exam score condition or both if the two remaining (homework and midterm )
conditions. Which of the following formulas A-C can be used in the cell D2 to answer the question: will you be able to join your friends
with the results given?

A =TF (C4>=B4, "Yes". IF (AND(C2>=B2. C3>=B3), "Yes". "No") )
B.=IF (AND ( C2»=B2, C3>=B3), "Yes". IF ( C4>=B4, ":Yes", "No") )

C.=1IF (OR (AND (C2>=B2, C3>=B3), C4>=B4), "Yes". "No")
Choose the correct answer from the options given below:

. A and B only
.Aand C only
.B and C only
CA.Band C

oy 9te TET B & 91 3179 3R U FET 3 Mer 9 & S fha g1 auify e $oR Trdr-faar F anget oo e &
Y O B S 3 [ [T Fo I 3@l 8| (i T T6-Uahd Siesie sy

b =

Lo

A B ¢ D,
zgﬂﬁa?
YIqH A d  |dRddD
et 1 4oft qfeome BIRIUIES
il (YesMNo)
IR TR /PR |, |
“lemae 5 i
3|Heafy 3@ 70 68 |
4 3ifcr glien sim 75 |77 | |

Hed BT o mdas T7aT a1 s sifom olien sie St =rd sriar =9 ST (7T @1l 9 AeImaiy) =ral & 931 34 & ol Sod
B SH VY BT IR & & [0 3 A Gl A-B A S U C2 H oY o A1 &1 Wl Sl g uRomd 9 &1 g 39 i &
1Y & Fehl?

A.=TF (C4>=B4, "YES", IF (AND(C2> = B2, C3>=B3). "YES", "NO"))

B. =1F (AND(C2>=B2, C3>=B3),"YES", IF (C4==B4. "YES", "NO"))
C.=1F (OR(AND(C2>=B2, C3>=B3). C4 >=B4), "YES", "NO")

A féu e fased! © 8 Tl SR &1 99 BIuIL:

1. Had A NRB
2. HITAIRC
3. HIAB IR C
4. A BIRC

Al

1

A2,

2
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Objective Question
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35 1985 | \fateh List T with List IT

Computer term

. [Router

I. |The rules that govern the division of a file into packets and subsequent reassembly of the file from those packets,

[Firewall

11 |An organization assigned responsibility for reducing problems and mcidents related to computer security.

CERT-In

III. |A device that provides perimeter security by filtering packets.

o|a|w|e

. |Transmission Control Protocol| IV. |A device that uses the Internet Protocol (IP) to send packets across network.

o -

o

Choose the correct answer from the options given below:

CA-IV. B-II. C-II1. D-I
. A-IV. B-IIIL. C-I1. D-I
. A-L B-IIL. C-IL. D-IV
A-IT, B-IIL. C-IV. D-I

il 1 1 gl 11 9 e sifore

Objective Question
36 1986
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= I
FU UG gy
(BT5a I Uehel H [GHITSTd PR @ ek
A RIS L [ 0del § rgel &l O S5 @I R
B gt (99
[heIeR QRa Sat SHwe d geH1 @
B. e L tamem & et aren S
o [AReRA- | [Ael Pl fireex @ aRTH FREM T D
i kol
b, [FERU T [ HEa®] & UR Ude HoT- & [ §eXe
N EE " [AICTeie (TS UT) @1 WO @ arell didd
iR fa®edl ¥ 9 T8t TR &1 99 DI :
1. A-IV. B-IL. C-III, D-I
2. A-TV, B-IIL. C-II, D-I
3. AL, B-IIL C-IL. D-IV
4. A-L B-TIL, C-IV, D-I
Al
1
A2 5
2
A3
3
Ay
4
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When was the Environmental Protection Act (1986) last amended .

1. 1990
2.1991
3.1992
4.1993
aiaeuT TR&0r HfATH (1086) H 3ifan IR Yo &a fovar a1

.. 1990
. 1991
. 1002
: 1953

R

.Al
fA2
A3
Ay

4
Objective Question

37 1987 | Given below are two statements:
Statement I: Stratospheric ozone is known as 'good ozone'.

Statement IT: Ozone at the surface level is a serious health hazard and known as pollutant.
In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement IT are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect
4, Statement I is incorrect but Statement II is correct

9 &l Py RU MU &:

HYF 1: THATIY IS 7S el & Fu A ga gl

DY II: BRTAd TR 3HTe W & g 1R SifEn § iR 7w & =0 g Id g
SIS PY & 3Heile H, -1 13U 7Y faedt & 3 981 3R &1 994 DI

PUTI AR I GH TT g

YA R I GHT 3R ©

YT I 8. Afh PUT I 3T &
YT HTA R, AP pUT 1 qd ©

ko =

oW

Al
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A2

A3

Aty

4

Objective Question

38 ||1988 Many nations blend petrol with ethanol to reduce the emission of CO. The mixture is known as

. Gasol

. Petrohol

. Gasohol

. Ethopetrol

3P Y CO & Ieqoi 1 Bl TH & (7Y Ueidl 1 a1 & 91 eur o=d 81 98 Myu P d 4 fpe s i Ia 82

B

1. T

2. Ueiga
3. TETd
4. 3UI9ETE

Al

A2
A3
A4

4

4
Objective Question

3911989 Given below are two statements:
Statement I:Screen chamber in wastewater treatment is used to remove small and heavy suspended solids.

Statement IT: Grit chamber in waste water treatment is used to remove large floating materials.
In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement I and Statement IT are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement I is incorrect
4, Statement I is incorrect but Statement II is correct
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e APy RUME:

HYF I: JIRIY F@ ITIR T T JaR &1 WM BT R YR vaifad 319 uerf @f gem & i fearsrar g1
FYT I1: R Fd STER F e FaR &7 7 foR7 arelt geg 9l &1 germ & fag S s g1

SWRIdd HY & 3HTalle 1, i [GU T fadbeui T 9 ¥el 3R &1 994 SIfe:

PYTI ARG TT§

YT ARG ST §

PYTI I 8. AT PUTII 3 &
YT HIA R, AP PYT I HA ©

[

= o

'Al
62
ij3
Ay
4

Objective Question

40 11990 ' ywhich one of the following gases has the maximum Global Warming Potential(GWP)

1. Methane (CH,)

2. Nitrous Oxide (N,0)

3. Carbon dioxide (CO,)
4, Carbon Monoxide (CO)

Fofafaa § T o9 W T e =0 T 9 SeUshae B HRUI T 99l 82

1. T19 (CHY)

2. TgCH TS (N,0)
3. A SIS HIFISS (CO5)
4. BTE- HHSTEES (CO)

Al
A2
A3

Aty

4

Objective Question
41 1991
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The college that was exclusively meant for the education of Indian princes before independence was

1. Reid college, Lucknow

2. Daly college, Indore

3. St. Xavier college, Kolkata
4. Forman College, Lahore

fFafafEd @ 9 98 $F 91 Telaarad § S Wdadl 94 30 &0 9 YR 9 AR &1 e & fog o

1. 3 B, TGS

2. STl BIal, EER

3. Yo WfdR 1, BIaPpdl
4. BIREA SIS, ER

Al
A2
A3

Ay

4

Objective Question

4211992 \which of the following institutions was established before Indian independence?

1.ICSSR
2. AICTE
3. ICHR
4. ICPR

R e 9 ued Fefefaa g § @ oast w1 1 ot

1. TS F TH T AR
2UEHAT
3. M8 W U9 3R
4, 3ms It 3R

Al
A2
A3

Ay
4

Objective Question
43 11993
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Which of the following were the recommendations of the Radhakrishanan Commission regarding medium of instruction in higher
education?

A. The medium of higher education should be in regional language.

B. Immediate steps should be taken to prepare scientific and technical terminologies in federal languages.
C. All the federal languages must be written in Devanagari script.

D. International and scientific terminological words should be avoided.

E. English should be banished from the higher education field in India immediately.

Choose the correct answer from the options given below:

1. A. B and C only
2.B. C and D only
3.C.Dand E only
4. A.D and E only

G e & /4R & A1ead & ey B qUIHWE ST &1 9 T 9 St o= o

A. 3= TRreq 1 A1eny &ty yTea g =R

B. T yw13ff & 391 § de-io] Wsaadl dUR ® & [l dabTd HaH 331U o 18U
. gt et ymerafi &1 sifHant =u ¥ SaarR § forar s =gl

D. 3 T aili-1 saraal & Ysal DI URER fddl S d1iet |

E. HRd H 3= [af & 9 3ol o1 depTd €fgthd &R 11Ul

i feu e famed § 9 98l 3R &1 99 Bifolu:

1.Hdd A, B, C
2. %04 B, C,.D
3. %94 C, D, E
4. $dTA.D.E

Al
1
A2
2
A
3
Mg
4
Objective Question

44 1994 | Given below are two statements:

Statement I:According to NEP, 2020, value-based education shall include universal values and scientific temper.

Statement IT: Value based education did not include life skills and constitutional values as per the NEP document.
In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement I and Statement II are true

2. Both Statement I and Statement IT are false
. Statement I 1s true but Statement II is false
. Statement I 1s false but Statement II is true

e L
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- a Py Ry MU E:

FY 1: AP & A, 2020 F STER. Yo Su1Ra e ¥ Ard i ged SR awi-e T-Es [ sri |

FYF I1: TV 8T A ST B SR, G e Rien & sita-sire sk ddurfe geg it 381 fa m
SWRIdd HY & 3HTalle 1, i [GU T fadbeui T 9 ¥el 3R &1 994 SIfe:

PYTI ARG TT§

YT ARG ST §

PYTI I 8. AT PUTII 3 &
YT HIA R, AP PYT I HA ©

[

= o

Al
A2
A3

Aty

4

Objective Question
45 (1995 Higher education in ancient India was based on an integrated system of
A. Ahimsa (Non-violence)
B. Dharma (Religion)
C. Darshan (Philosophy)
D. Arth Shastra (Economics)
E. Niti (Ethies)

Choose the correct answer from the options given below:

A.B and C only
.A. Cand D only
.A.D and E only
.B.C.Dand E only

U HRA d 3= Rien 9 8 9 f69-og of gHS e Jome! iR anumid o

A, 3ffgan
B. o4
C.g%F

D. 3ure
E.HIfd

A fGu Y fased! H 8 Tgl SR &1 99 BIuIL:

PR S

1.$aAA, B, C
2. PAAA.C.D
3. PaTA.D.E
4. %090 B, C.D.E

Al
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Objective Question

46 11996 | pead the following passage and answer the question (46-50) that follows:

Political freedom and economic justice are two sides of democracy: both are essential. We should lay stress on the improvements of the
economic conditions of the people as well as on liberty and freedom. No society can claim to be democratic if it does not permit political
liberty. freedom of conscience, freedom of choice between parties, and opportunities of peaceful and orderly changes of Government.

In the context of the international situation, there are many misunderstandings. We can build peace even on the basis of
misunderstandings. When onee peace is built, misunderstandings will diminish.

We . in our country. are now engaged in the enterprise of effecting a social and economic revolution. The word 'revolution’ need not scare
us. It does not mean barricades and bloodshed. It means only speedy and drastic changes. We are interested not only in our objectives but
in our methods: not only in what we achieve but in how we achieve. Through peaceful, constitutional processes we won our
independence and integrated our country: and now we are striving to raise the material standards of our people. Even if we meet defeat in
our attempt to replace force by persuasion. the politics of power by the politics of brotherhood. we are convinced that the defeat will be
only temporary, for goodness is rooted in the nature of things: kindness and love are as contagious as unkindness and hate.

For a democratic society it is essential to have

A. Complete literacy

B. Political freedom

C. Freedom of individual
D. Population control

E. Economic justice

Choose the correct answer from the options given below:

.A.Band E only
.B. C and D only
. C and E only

.B. C and E only
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Read the following passage and answer the question (46-50) that follows:

Political freedom and economic justice are two sides of democracy: both are essential. We should lay stress on the improvements of the
economic conditions of the people as well as on liberty and freedom. No society can claim to be democratic if it does not permit political
liberty. freedom of conscience. freedom of choice between parties, and opportunities of peaceful and orderly changes of Government.

In the context of the international situation, there are many misunderstandings. We can build peace even on the basis of
misunderstandings. When once peace is built, misunderstandings will diminish.

We . in our country. are now engaged in the enterprise of effecting a social and economic revolution. The word 'revolution' need not scare
us. It does not mean barricades and bloodshed. It means only speedy and drastic changes. We are interested not only in our objectives but
in our methods: not only in what we achieve but in how we achieve. Through peaceful, constitutional processes we won our
independence and integrated our country: and now we are striving to raise the material standards of our people. Even if we meet defeat in
our attempt to replace force by persuasion. the politics of power by the politics of brotherhood. we are convinced that the defeat will be
only temporary. for goodness is rooted in the nature of things: kindness and love are as contagious as unkindness and hate.

The word 'revolution' in the passage implies

. Bloodshed

. Violent protests

3. Political transformation

4. Social and economic transformation
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48 1998 pead the following passage and answer the question (46-50) that follows:

Political freedom and economic justice are two sides of democracy: both are essential. We should lay stress on the improvements of the
economic conditions of the people as well as on liberty and freedom. No society can claim to be democratic if it does not permit political
liberty. freedom of conscience. freedom of choice between parties, and opportunities of peaceful and orderly changes of Government.

In the context of the international situation, there are many misunderstandings. We can build peace even on the basis of
misunderstandings. When onee peace is built, misunderstandings will diminish.

We . in our country. are now engaged in the enterprise of effecting a social and economic revolution. The word 'revolution' need not scare
us. It does not mean barricades and bloodshed. It means only speedy and drastic changes. We are interested not only in our objectives but
in our methods: not only in what we achieve but in how we achieve. Through peaceful, constitutional processes we won our
independence and integrated our country: and now we are striving to raise the material standards of our people. Even if we meet defeat in
our attempt to replace force by persuasion. the politics of power by the politics of brotherhood. we are convinced that the defeat will be
only temporary, for goodness is rooted in the nature of things: kindness and love are as contagious as unkindness and hate.

Which of the following traits of human nature are considered to be contagious?

A Honesty
B. Kindness
C.Love

D. Hate

E. Integrity

Choose the correct answer from the options given below:

A.Band C only
.B. C and D only
C and D only

.B.D and E only
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Objective Question
49 1999 pead the following passage and answer the question (46-50) that follows:

Political freedom and economic justice are two sides of democracy: both are essential. We should lay stress on the improvements of the
economic conditions of the people as well as on liberty and freedom. No society can claim to be democratic if it does not permit political
liberty. freedom of conscience, freedom of choice between parties, and opportunities of peaceful and orderly changes of Government.

In the context of the international situation, there are many misunderstandings. We can build peace even on the basis of
misunderstandings. When onee peace is built, misunderstandings will diminish.

We . in our country. are now engaged in the enterprise of effecting a social and economic revolution. The word 'revolution’ need not scare
us. It does not mean barricades and bloodshed. It means only speedy and drastic changes. We are interested not only in our objectives but
in our methods: not only in what we achieve but in how we achieve. Through peaceful, constitutional processes we won our
independence and integrated our country: and now we are striving to raise the material standards of our people. Even if we meet defeat in
our attempt to replace force by persuasion. the politics of power by the politics of brotherhood. we are convinced that the defeat will be
only temporary, for goodness is rooted in the nature of things: kindness and love are as contagious as unkindness and hate.

Economic standards of people could be raised by

. Force

. Polities of power

. Politics of Brotherhood
. Politics of exclusion
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Objective Question

5012000 1 pead the following passage and answer the question (46-50) that follows:

Political freedom and economic justice are two sides of democracy: both are essential. We should lay stress on the improvements of the
economic conditions of the people as well as on liberty and freedom. No society can claim to be democratic if it does not permit political
liberty. freedom of conscience, freedom of choice between parties, and opportunities of peaceful and orderly changes of Government.

In the context of the international situation, there are many misunderstandings. We can build peace even on the basis of
misunderstandings. When onee peace is built, misunderstandings will diminish.

We . in our country. are now engaged in the enterprise of effecting a social and economic revolution. The word 'revolution’ need not scare
us. It does not mean barricades and bloodshed. It means only speedy and drastic changes. We are interested not only in our objectives but
in our methods: not only in what we achieve but in how we achieve. Through peaceful, constitutional processes we won our
independence and integrated our country: and now we are striving to raise the material standards of our people. Even if we meet defeat in
our attempt to replace force by persuasion. the politics of power by the politics of brotherhood. we are convinced that the defeat will be
only temporary, for goodness is rooted in the nature of things: kindness and love are as contagious as unkindness and hate.

Given below are two statements:
Statement I: In international arena. understandings are a per-requisite for building peace.

Statement IT: India achieved its independence and integration through peacetul revolution.
In the light of the above statements, choose the correct answer from the options given below.

. Both Statement I and Statement II are true
. Both Statement I and Statement II are false
. Statement I 1s true but Statement IT is false
. Statement I is false but Statement II is true

| SN

=
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Objective Question

S1 80001 1 WWirth is known for which coneept?

1. Primate City
2. Rural Urban Continuum
3. Central Place
4, Conurbation
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